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This question booklet is divided ing,
two sections — Section-A ang
Section-B.

In Section-A, there are
100 objective type questions, out of
which any 50 questions are to be
answered ( each carrying 1 mark).
First 50 answers will be evaluated
by the computer in case more than
90 questions are answered For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use

- whitener, / liquid / blade / nail

etc. on OMR-sheet, otherwise the

- result will be treated invalid.

In Section-B, there are 30 short

answer type questions, out of

which any 15 questions are to be
answered (each carrying 2 marks).
Apart from these, there are 8 long
answer type questions, out of
which any 4 questions are to be

- answered (each carrying § marks).

Use of any electronic appliances is
strictly prohibited.
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WvE - A / SECTION - A :

RIS W¥T / Objective Type Questions
v wear 1@ 1007w % wyT & ave wir frwvq feg my & fornt @ vw W

A= 50 uv & 3wv &1 orws gwT WA g Wt frwew W OMR ¥z ar Rifdrr
! 50 x1 =50

Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the

OMR sheet. 50 x1=250
- = -
1 li—]J _—Skl =
Ay 11 - @B JL
€ V7 . D) V10
> -
2. (4i+3j)P=
a 7 : ® 19
ey 25 | | - (D) 49
- =5 = = =2 =2
3. (7i-8j+9k).(i-j+k)=
- 25 (B) 24
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8 “11+1+k1-(i+;+1131=
(A) 22 y
| ( 23 .
C) 24 | (D}-zu
6. (kx]).7-
L lﬁl 1
€ -1 '(D-] oF
1

R - :
T i-2j45Kk) . (27447 +27) =

(A) - 20 B 18
& o D) 4
8. (ixj)+(ix1) =
g ® 1
.
) k (D) i
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9.

[121/327]

e Praffga § A WA I B 8 2

(B) y20 -

o AW

(A) x2 10

(C) 2z=7x+3Y
~Which of the following is objective function ?

(A) x210 : B). y20

€ z=Tx+3y (D)  All of these

10. =AY x+y<35, x20,y> 0 % A Z=0x+y 1 T TH

&) 35 - ‘(B 105
) 70 (D) 140
The maximum value of Z=2x+y subject to constraints

x+ys35, xéo,yz 0is

(A) 35 ' . (B 105
(C) 70 o D) 140
11. cot’l(tan-g-)=
@ B %
3
© = D 37
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8n
12. cos™ (c"s’é—)—

2n
8n (B) 5
@A s
3n
n (D) =<
€ s S
13. tan"}(-¥3) =
| n
(A) % . fF) 3
2 “ Y _1:_-_
© I | D o
14.  tan"!(V3)-cot ™} (~y3)= "
@ o | , _=x
) S .
€ = | _ -E
- | D). 3
12 o
35 ot nin a“)“a“](ta‘_’%"'*
@A) 17z s
12 B - e
. |
“ 12 D) -
12
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' -11 -11_
16. tan §+tan 3
A) = | 7
© 3 O 3
17. .Sin{ain‘l%-rcus'lx}-l, =X =
A 1 (B o0
4 TS
© s (D) -&1.‘-
21 11 10
18. [25 15 10|=
64 27 37
~ AT 1190 (B) .84l
€ o ’ , D) 1
10 4
12 ’13 5,= |
(A) 102 B) 2
© -2 - (D) -102
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20 l-: 1‘?‘_0 = X = ‘12;/32?]
(A) 15 B) -15
) 12 Dy 60
21 dx _ -
x?+q
(A) -i-ta.tl"li‘-+k (B) —étan"l-%-f-k
9 -%—tanhl—%+k (D) 2£an‘1g-+k
= o
(A) -l sin x - cos x + k {B] —Sin x~cos x + k
@/sinx+cpsx+k (D) = 8in x + cos x + k
23. -&c—i—c-{cos{ux+siz;r:}=
(A) —sin(nx+sin:1:} (B) —nsin(nx)
(€C)  —sinnx (D) sin x
25&/12/105-
Page 8 / 40

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

[121/327]

24 Itﬂn {tan'] X)dy=

(A) %-+k (B) %+k
© x+k ST
(D}~ logsec(tan™ x) +k
X
25, j;:;==
-1
(A) ;_-_;--I-k B) e +k
1 1 - -
(Cr) ';;.;f'l‘k E.Dj/—e *+k
26. [logx* dx=
1 : 2
A) —=+k 2
(A) at _ B Z+k
(C) xlogx-x+k (D) 2(xlogx-x)+k
27. I(sinSx+4sin3x]dx=
(A) 3sinx+k (B) -3cosx+k

(C) €083x 4 1o4in? x+k (-D}/%+4cossx+k

3
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n . | 121‘,32

28. iain'? xcos!? xdx=
-1

L&;f'"b (B) 1
() 20 (D) 6

! -1
29, 4tan " x dx =

0 1+x2
: 2 . 0
w = ® I
@ R
1
30.  [3x2 dx=
0
4) 3 ® 1
-3
€ 1 - ;
| 9
B é
31. Iﬂx]dx+f¢(xjdx=
x
p
o (B)
i
€ o

P—

| B
@’/ZIO(x}dx
'ﬂ‘% )
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d[|x x|]_
n &{J5 3}
A x*-2x (B) 2x-2
Oy 2x+2 (D) x-2
d ] lim x"-1
33 dx{“‘*l n+l }=
A) 0 y 1
(A) -{B] 3
o b o
34. %{logsxxlong}ﬂ
W3 ® 9
(€ 2log3 ' D) ©
35. d—i—{ logxwo)=
1 ® <
xlOD
1
© 2 ®) " Toox
0
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B
(A)  2sin ' x (B) 1 — x2

1
2 (DL ——————

3? IEEIngdx=

| 2
() eloex, i B) Z-+k
3 . o
@ 5+ (D)  8x>+k
38. .sl_{fx lsl}_
dx||4 4|7~
A
N B) 4
€ -e60
D) -4

39 Ixm 'xn dx =

(A x™* o nel
T Mernain— m+n
2 ® Xt
m+n

minsy tk &
( ) (m+n}xm+n_1+

.
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4. {[-"1 {-‘!| dx =
J+x
A ’,,e
(Al e +k JB] 3 +k
o e D) 3e**3 4k
3 /3 43
4. |4 0 0=
0 0 0
VY (B) 12
A\ _
€ 443 D) 3-443
=1 2|_
5 10 15 2
S is 20 (B) |3 20
5 10 1 10
€ |3 4| (D) \15 zol
5 1] [2 1] .
43 [6 7]'[3 4]
7 11 7 1]
(A) [33 34] (B) [33 34
2 1 16 5]
(C) [34 33] (D) [39 25
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[121/3
@ 12 3] (B) %
11
© [3 2 1] \J.Dl'/é
.SJ
d
435. E;'(IDESX)=
1
R ® 1
X
(C) S \(Bl/ : i3 1.
IngS+;
46. [1 2110 | N
[3 4] [0'1]’*
' 10 -
e14 §] ® [} 2
© [} 3 1 2]
0 4 (D) [3 0
47 A=[é ?]:;Alw-
&) 1004 B 1014
C) A (D) 99A ,
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E o 1[I [121/327
wred [
© (=1] D) [1]
o LHBY
@ 3 5] ® [3 3
© Ky @ o [y
o 29 [2-
els s e by
@ [19 4s] o [%]
st Iope™
@) logxk B  (ogxP+k
©  togloge)+k R
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) , T
. 2 dy -
[ L
(A} log(v - 3)+k (B)  log(x +3)+k
2
) -—ttk (I = P
(x+3)°

53 AR n(A)=4 ¥ n(B)=2, @ n(AxB) =

A) 6

€) 16

(B) 8

(D) ¥ A 9 7

If n({A)=4 and n(B)=2, then n(AxB) =

A) 6

© 16

54. Al "l ‘o' T8 TR qfenifie § Ry {éob)

\(B)/a

(D)  none of these

S
=qa +b3,ﬁ40(1021-

(A) 729 (B) 793

(C) 783 | (D) 792
If operation '¢' ig defined as (aob) =q34+p3 then 4‘ot 1o02)

r o _ﬂ
(A) 729 (B) 793
(C) 783 (D) 792
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(121/327 ]
ﬂ fiA-> B ATEBEH Her gim, afe

55.
Ay f(A)cB B) [f(A)=B
€ f(A)>oB D) f(A)#B

f:A— B will be an onto function, if

(A) f(A)cB B) f(A)=B
€ —~T(A)=B (D) f(A)=B

56. AR f:R—->R, & f(x)=3x-4 @ f\(x) frfefaa § < gm 2

A glxrd) B Lx-a
(C) 3x-4 (D)  3rafeiiya

If f:R—>R such that f(x)=3x-4 then which of the following is

fhx 2
(A) %{x+4} (B) %::-4
(C}) 3x-4 J?)//Undeﬁned
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2, b% -ab, the
= ¥ e
defined a3 (49 "8,

@/27
(D) 12

},a’[f‘m‘”ﬂ?‘(’.w DG B f:A-a-,q%

g

1{ operation ‘0 18
(A) 18

€ 9

cg. @l fH A={1,23T

A gHd § ?
(A) n =l Lo
© zln o) |(n-1)

Let A={1,23,...,n} . How many bijective functions f:A— 4 can’,

defined ?
A) n B) |n
© 3ln @ |(n-1)
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ﬂ o 4%
mn{}tnm N +ian ]}_

A 1) V3
-1 11
4 —
(10. COS X s¢CC X

@& 3 B) cos~!(2x2-1)

(© cos7l(1-2x?) (D) cos™!2x

61, STUM x+y<8, %50, y> 0 % Jwd Z=3x-y FI Afoebad A §

A -8 . (B) 24
€ 16 . D) 8

The maximum value of Z=3x-Y subject to constraints

x+y<8, x20,y= Ois

(A) -8 By 24
(C) 16 (D) 8
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E [121}32?]

02 R U % b 1 A g ) sl 2

2 1

(A) : (B) 3

© 32 =
g (D) 36

The chance of getting a doublet in a throw of 2 dice is

2
@ 2

’ 1
8B =

S5
(C) I (D) %

63. | TR &1 9m wig 2
(A) P{AUB}=P(A}+P{B}
(B) P{AUB}:P[A}+P{B]+P{AHB]

(C)  P(AUB)=P(A)+P(B)-P(ANB)

(D) P(AUB)=P(A). P(B)
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[ 121327 |
a A jdition theorem ol probability s
i

N PAUB)=P(A) P
@) PIAUB)=P(A)+P(B)+P(AND)
©) P(AUB)=P(A)+P(B)-P(ANB)

(D) P(AUB)=P(A). P(B)

g4, TR TSI EH ITHRA HAMIIE a: bﬁ,a‘r P(E)=

' a
(A) a?-b (B) a+b .
b
© aEb O 2-p

If odds in favour of event Ebe a: b, then P(E)=

a
(A) a{ib (B) a+b
b
b
(©) a+b (D) a-b
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p(B)
Ay PANB) PMUE]
(B~
(13) ;?tﬁﬂﬁl-—'f’{ﬂ]*}j
g/8)
(C) p[,an];P[ﬁl-P{
(D) gqﬁﬂa?fi:rﬁ
1ity 1S
robabﬁltff
Multiplicationt theorem 9 P
; B
(A) P(A['IB}:P{A].P{ }_. |
| (AUB]

' -P
(B) P{Aﬂﬁ}=P{A}+P{Bl

(€ P{AnBJ=P{A;.P{B,’é}

(D) None of these

66. d (33—21:):

dx
(a) e ) 032
f'c]' = 2&3“2;\: \9)/ i es-zx
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’ {:"14‘ )

v+l
v gttt (1)

REREERIPARY (D)

(Jx +1)?

B L R
=~ IJ{'\‘EI +2x+‘J;

o 2Jx +k (D)

1
69. Is‘..in13 xcos'? xdx=
-1

W0 =

o 1 ®
2

70 Iex dx =
4]
A e’ -
c) e*-1 )

? *.lug‘a! +k

Xk
1
Eﬁﬂc
2x+k

1

2

32*2

e -1

| Bda vt |
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I J3 o2 ] \(_BJ_.—
€)1 (D)
2 [ 4 ] [2 -9 ] -
(C 8
] [‘ 8] (D)

T3,

T2 3] sty

BT = A | P
© [g g] " (D) [g g]
Adoint mate o mate [2 3]

@ [ -3] ® &g
o T3 5] ® |3 3]
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’ d (logx°)= [121/327 |
ax

g@tE X=19_y-17 ,_;5
13 1 g % fe% argwa &

(A) 19,17, 15 (B) 13,11,9

(C) 19, 17,9 (D) sﬁﬁaﬁéq"é’f

The direction ratios of the straight line

x—-19 _y-17 z-15

13 11 g &€
(A) 19,17,15 _(B—13,11,9
(C) 19,17,9 (D) None of these

76, Yy X=1l_Y—12_2Z*13 frofufiee § fbw g @ ot R 2

12 13 14
(A) 11, 12, 13 (B)y 11,12,-13
() 12,13, 14 (D) -11,-12,13
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EIQI Ao

Through which of the following points does the line

Aol w-12 z+13

T TNy pess?

AL 11,12, 13 (B) 11,12,-13

12,13, 14 D) -11,-12,13
Fﬁi‘lm’m%msﬁ%ma@mz,?,gms,m,x%ﬁxﬁm%

4) 9 B) 18

() 27 D) 3

(A) o9
B) 18
(C) 27
D) 3
78. A g
W%ﬁ?mmb,cmx,yzam
3 Qz._—_
S (B)
Cx
(C) b2
D)  ax

then gz = » b, cang , i/, 2
A) ¢y

B)  ex
(C) bz

25A/12/105 i
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A9 . B) -9
cy 8 (D) -8

if the direction ratios of two mutually perpendicular lines

5, 2, 4 and 4, 8, x then the value xis

(Ay 9 M)y -9

C) 8 ' (D) -8

7 9x -8By +7z=10 % GHIA TH ael &1 THHT 8

(A} 9x-8y-7z=5 B) 9x-8y+7z=5
(C) 9x+8y+7z=5 (D) 9x-y+7z=5

Equation of a plane parallel to the plane 9x-8y+7z=10 is

(A) O9x-8y-7z=5 (B) O9x-8y+7z=5
(C) O9x+8y+7z=5 (D) Ix-y+7z=5
25A/12/105
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. oK
0 '2\/(12 s 't) -
2 a
JA) a_ (B) Gl
2
C 2 D a
(C) 3 (D)
a
82. J‘ dx _
0 X

83.

n/2
84. I logtan x dx=
0
(A) _ ‘J'I/4 ) {B) n[2
€ o D) =
25A/12/105
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[121/327 ]

;5 [ dx=
0
A} e B 1-¢
C) e-1 o0
n/d
86. Isinx.cosx dx
(&)
1
A 1 B) 3
_ 1
(C) 1 ®
1
87. [(x+2x+3x?+4x>)dx =
0
2
@ 10 ® 3
1
©) -% O 3
1
88. jsinx.cos3xdx=-
uf
a) 2 B) 1
wLs @ -1
40
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iy i”‘".i*” ”
_ .
(A) 1wy By Jex;
() I {11 16}
u '
'3) rQx.
I
A) & (B) 4
cy 2 (Dy 12
" il .
(A) 286c? x -2 tan x B) 2secx-2tanx
€ 1 D) 0

9z A2
dx'(' t2ex |=

MI 2e +2x - .
" - (D) 2x
BCZYITTIIT —
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1:}3- 'a';:' x—=a x+a
B2
a” A ’ a
A 5
o) O
) 1
94. %(Sin_l Dx)=
2
(A) L (B) -_1-_-::_2-
1-4x2
il
©) = o % X
1 - 4x>
95 d {x+2){x2-2x+4)]=
¢ dx x> +8
2 _ox+4) +(2x—2)
2x — 2
W 25 (e~
c 1 Md) O
d 1
96. L[a/x}-
2 ~_1_
' 1 D i 8
o i P &
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a7y d 2?I
A H1 cng Dy )+ 2 cna? x|=
(A} ~4Riny rosx (B) !
€} o D) 2
Q i .
& ;:;;: [log x? +loga?|=
2.2
A L,1 By S
JL‘A .{12 ¥ a
2
© < o =
99, 4 -
dx lﬁtan ix] =
(A} =¥ - ¢ -
1+ x2 B a2
1+4x2 () 1+ x2
100. 4| _x2
dx[e J=
2 .
{A} e* [B} e2x
2 .
_[C} 2xe* (D) 2 erx
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[ 121/327 |

ﬂ Wvy - W / GRCTION - B

oy F7da W / Bhort Answer Type Questions

e W lﬁaoamnqm?whnﬁ#ﬁm?’mwafﬁmirMW
% Pruifta 16 x2 =30
*m o *J wer uny 15 questions,

Question Nos. 1 to 30 are Short Answer Type. Ans 15 »2 =30
Each question carries 2 marks.

| 23 12 11
1. Rl =().

A 10 20
63 26 37

23 12 11
36 10 26
63 26 37

=0,

Prove that

2. O %1 WA B

awp

9
S
4

S ENEN

Evaluate the determinant

Nwp
=N Re)
N3]

3. 3fe J«f.1=[;?r ‘é] 3R B=[g ,}r] %h&:aﬁﬁ?s AB#BA.

If A=[§ *é] and B=[§ i] then prove that AB#BA.

4. A& y=cosycosvx ,d %ﬁﬂﬁl

_ dy
If y=cos -.,/cos‘/;, then find T
25A/12/105
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[ 121132-‘,
gl B /00

ny-onc¢ into

" p 2k ma . :
frz =% fx we3 ¢ R ., many-one into, Whe,
oo

| RR
Prove that the function f
fivh=v’ v eR
1 5 7 i
6  wmfrk ] > o wuA A
1 8 10
L s 1
: 1 7 -
¢ determin@nt ;g 4o

. Find the value of th

T EeflEm & Z=7x+8Y
m3x+4y324
x20, y20
Minimize Z=Tx+8Y
subject to 3x+4ys<24
x20, y20
8 3 _1 ng)=L @ p|4| @ p|B
. AR P(A)=%,P(B)=5 P(ANB)=7 B) - \a

fret)
-Ai] and P[EJ

_3 1 i

If P[A)--B-,P{BJ =7 and P(ANB)= then find P[B' "
@ TR ¥ % F AR e den W A 2, @ A 53 FW AN By
iferdr & ? '

A die is thrown. Find the probability of the occurrence of a number

less than S if it is known that only odd number occurs.
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| erivg 2w

|

RIL WA

1
- _ (N I ;
Write in the mmpleat forn 1 [ J| peoalx

11 fﬂi:%]’f—!: fan J”x . -lan 'Jr.

———

= i+x -1 1 f
Prove that tan 11{———:-5!&1 X

X

12 uﬁl;‘ il-m,ﬁ;:%mﬁimﬁl

If ,x S| =24, then find the value of x.

X X

13.  cosec™'2 %1 @ A FA HU

Find the principal value of cosec 2.

1
14. Ia'nlnm.xc:cms12 xdx ‘ﬂﬂﬂﬁmﬁl'
-1

1
Find the value of fsin23 .:c..c:cvs12 xdx.
~1

dx
2

15. @UTFAA H I
Elﬂ X.C08 x

d
Integrate : I X 5

sm X.COo8 x

[ 121/2327 |

03 IrAAa Fqﬁﬁﬂi tan i[JI o8 2x ]' g ()- r-nm

J, when - r-on

25A/12/105
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[ 121[32-;;[

; X :
16. @ X acs g

sec x +tanx

SCC X ___ dx

secx+tanXx

Integrate : I

xdx

17. WU&TR HL '[1+r

xdr

Integrate : I
1+ x

18. UHTHEH Ht - Ieloge[xsinxldx_

Integrate : Ielﬂge{x'smx}dx.

o1 Fefere

19. i x+2y+3z=6 3 3x-3y+z=1 % dd Hl

Find the angle between the planes x+2y+3z=6 and 3x-3y+_z=1_
20: aaaaﬁrmﬂwmﬁﬁﬁﬁg(l 2 S)ﬁwﬁamaﬁ
3x+4y-5z= O%Hﬂ'lﬂ‘{%l

Find the equation of the plane, passing through the point ( 1, 2, 3)
and parallel to the plane 3x+4y-5z=0.

21.  Fftemafiew # Z=3x+4y
wafs xX+Yy< 4

LY

x20, y20

25A/12/105
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d

1211327

Maximize Z=3x+14Yy
subject to x+ys 4
x20, y»0

22, T x2+y?-36 % 34 fag W gawAr FEE lx=-5y=h

In the curve x4 y2 -36, obtain the slopc of the curve at the prant

where x=-5, y= 6.

a7 B e £ (x)=x° —4x+3 FreflEa « % Tl w adur & @ FEE

23.
?:
() x=1 (i) x=3
Examine whether the function f (x)=x2 -4x+3 is increasing or
decreasing at the following values of x:
i x=1 i x=3
| 24. fﬁa‘cﬁﬁ 2005_1x=cos'1[2x2—1}.
: -1 -1 2
Prove that 2cos ~ x=cos  (2x"-1).
25. TR A I BIM H F€lh
1 0 2] , 1 4 4
A+B=|2 2 2{3R A-B=[ 4 2 0|,
1 1 2 -1 -1 2
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20.

27.

28.

29,

30.

[ 12
’ . lf32? ]
Find the matrices A and B, when '

10 2 | e
A+B=|2 2 2|and A-B=[ 4 2 0}
112 =1 w2

R # R (a+b).(a-b)=a?-b2.

Prove that (:-I-.g] : (;-—-};]:ag -bz.
x H WH Wi B, qafs Refiiaa qfen wer o &

A S - > =
x‘“3J+5k,—xi+xj+2k-

Find the valye of X, wheln the following vectors are perpendiculay to
one another :

A = . ~A9%° o
Xt=3j+5k, -xi+xj+2k.

x-a‘llﬂaﬂty=sinr'ai*ﬂﬁx=0'§ x=ndh & %’ﬂl‘ﬂﬂmﬁiﬂﬁl

Find the area of the region between the x-axis and the curye
Y=sinx, fromx=0tox=n '

Eaﬁ : %‘—g-.'-_-gx'l'y‘

dy
SOI == X+y
ve ‘ e -

IR y=tan-1 COSX+sinx dy
y=tan e
Cosx —-sinx’ @ dx |

If yétan'l COS X + 8in x

dy
cosx —-sinx’ then ﬁndd_"

X

25&/12;1@
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ﬂ #d 3adfta v / lnnghnlwer'l‘ypeQuesﬁonl .
77 §E 31 R 3sﬁda—aﬂum§|wﬁﬁfaﬁﬁ4mﬁ$mil

pre 5 3w Fraifa 31 ctions. Answer any
Question Nos. 31 to 38 are Long Answer Type qu 4x5=20

4 questions. Each question carries 5 marks.

) X dx.
31. §ATHEE M ; j(x—112(x+2l

: 2 dx.
Integrate : I[x T2 (x+2)

32, EA®: xg%+y=y2 log x.

-

sin-! 2(x+y) (1—-xy)
(1+x%) (1+y%)

-1 \ S R _12(3c+y](1-xy]
tan tan =-S8In -
Prove that X Yy ‘3 (1+x2}(1+y2l

a+b b c
b+c. ¢ a
c+a a b

34. Rg=ifs

=3abc-a® -b3 -c3.

a+b b ¢
b+c ¢ a
c+a a b

Prove that

=3abc-a° -b° - 3.

1117 [25 3
35. erA=[1 2 3], B=[3 1 zlfh(ABrlmﬁl
1109 1 2 1

) 1 1
If A=|1 2 3],
119

25A/12/105 - Page 39\/ §0
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#Y]
=~]

38.

| 319.....‘%._% 3 7= gﬂy___.ja;ﬁa:gﬁmaﬁﬁl

Find the acute angle between the line

2.‘T+y=,_

Afwrafien Al A Z =5x+10y
i X+2y<120
X +y260
x-2y20 |
x,y20
Maximize and minimizc : Z =5x+10y
subject to’ ' x+2y<120
' x +y260
k-zyzo
_ - x,y20
A, 75% e Sreran a0 B,BO%;?hﬁﬁﬁ@%ﬁﬁwaa‘ﬁﬁﬁﬁﬂm
B Y T gferar £ 2 |
A speaks the truth in 75% cases, and B in 80% of the cases. In

what percentage of cases are they hkely to contradict each other in
stating the same fact ?
faere i€ siv 3ie yera sifbfaas
FAYS GUe, Alee U, ieae-Hi,

UTSehd, siied, Al &ee, de-3T 3
tfae o udtell uss U7 3fe & f3e...

( BiharboardQuestionpaper.com p
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